Far East Journal of Mathematical Sciences (FJMS)
© 2018 Pushpa Publishing House, Allahabad, India http://www.pphmj.com

# ANOTHER FUNCTIONAL EQUATION WITH INVOLUTION RELATED TO THE COSINE FUNCTION 

(This paper is dedicated to the Prasanna K. Sahoo deceased in 55'th ISFE)

Gwang Hui Kim

Department of Mathematics
Kangnam University
Yongin, Gyeonggi 16979
Korea


#### Abstract

Let $G$ be an abelian group, $\mathbb{C}$ be the field of complex numbers, $\alpha \in G$ be any fixed element and $\sigma: G \rightarrow G$ be an involution. In this paper, we determine the solutions $f, g: G \rightarrow \mathbb{C}$ of the functional equation $f(x+y+\alpha)+g(x+\sigma y+\alpha)=2 f(x) f(y)$ for all $x, y \in G$.


## 1. Introduction

Let $G$ be an abelian group, $\alpha \in G$ be a fixed element and $\sigma: G \rightarrow G$ be an involution. Recall that an involution $\sigma$ is an endomorphism of the group $G$ satisfying $\sigma(\sigma(x))=x$ for all $x \in G$. For convenience, we will write $\sigma(x)$ as $\sigma x$. Let $0 \in G$ be the identity element of $G$. A multiplicative function on a group $G$ is a function $h: G \rightarrow \mathbb{C}$ such that $h(x y)=h(x) h(y)$ for all $x, y \in G$. It is well known that a multiplicative function that vanishes

Received: August 28, 2017; Accepted: December 21, 2017
2010 Mathematics Subject Classification: 39B52.
Keywords and phrases: Kannappan's equation, Van Vleck’s equation, group character, cosine (sine) equation, involution, multiplicative function.
at one point vanishes everywhere. Let $\mathbb{C}^{\star}$ be the multiplicative group of nonzero complex numbers. A character $\chi: G \rightarrow \mathbb{C}^{\star}$ is a map such that $\chi(x y)=\chi(x) \chi(y)$. Similarly, a function $A$ from the group $G$ into $\mathbb{C}$ is said to be an additive if and only if $A(x y)=A(x)+A(y)$ for all $x, y \in G$.

In 1910, Van Vleck [14] (see also [15] and [11]) considered the functional equation

$$
\begin{equation*}
f(x-y+\alpha)-f(x+y+\alpha)=2 f(x) f(y), \quad \forall x, y \in \mathbb{R} \tag{1.1}
\end{equation*}
$$

where $\alpha>0$ is fixed. He proved that $f$ is a periodic function of period $4 \alpha$ and equation (1.1) implies the cosine functional equation. He selected the continuous periodic solution of the cosine functional of equation of period $4 \alpha$ to obtain one of the continuous nonzero solutions of (1.1), viz.,

$$
f(x)=\cos \left(\frac{\pi}{2 \alpha}(x-\alpha)\right)=\sin \left(\frac{\pi}{2 \alpha} x\right), \quad \forall x \in \mathbb{R}
$$

The other continuous nonzero solutions are all sine functions

$$
f_{n}(x)=(-1)^{n} \sin \left(\frac{(2 n+1) \pi}{2 \alpha} x\right), \quad \forall x \in \mathbb{R}, n \in \mathbb{N}
$$

having the period an integral fraction of $4 \alpha$, viz., $\frac{4 \alpha}{(2 n+1)}$. These continuous nonzero solutions of (1.1) form a countable set (see [12]).

In [5], Kannappan considered the functional equation

$$
\begin{equation*}
f(x-y+\alpha)+f(x+y+\alpha)=2 f(x) f(y), \quad \forall x, y \in \mathbb{R} \tag{1.2}
\end{equation*}
$$

and proved the following result: The general solution $f: \mathbb{R} \rightarrow \mathbb{C}$ of the functional equation (1.2) is either $f \equiv 0$ or $f(x)=g(x-\alpha)$, where $g$ is an arbitrary solution of the cosine functional equation $g(x+y)+g(x-y)=$ $2 g(x) g(y)$ for all $x, y \in \mathbb{R}$ with period $2 \alpha$. In [10], Sahoo studied the following generalization:

$$
\begin{gather*}
\text { Another Functional Equation with Involution } \ldots \\
f(x-y+\alpha)+g(x+y+\alpha)=2 f(x) f(y) \quad \forall x, y \in G \tag{1.3}
\end{gather*}
$$

of the functional equations (1.1) and (1.2) when $G$ is an abelian group and raised the following problem: Given an involution $\sigma: G \rightarrow G$, find all functions $f, g: G \rightarrow \mathbb{C}$ satisfying

$$
\begin{equation*}
f(x+\sigma y+\alpha)+g(x+y+\alpha)=2 f(x) f(y) \tag{1.4}
\end{equation*}
$$

for all $x, y \in G$. In [8], the authors provided an answer to the above question posed in [10] by determining the general solutions $f, g: G \rightarrow \mathbb{C}$ of the functional equation (1.4) for all $x, y \in G$, where $G$ is an abelian group. In 1990, Gajda [4] studied the functional equation

$$
f(x+y+\alpha)+f(y-x-\alpha)=2 f(x) f(y), \quad \forall x, y \in G
$$

on a locally compact abelian group G. Gajda's work has been extended to Wilson's functional equation by Fechner [3] in 2009.

Other similar functional equations solved in literature are

$$
\begin{equation*}
f(x+y+\alpha) f(x-y+\alpha)=f(x)^{2}-f(y)^{2} \tag{1.5}
\end{equation*}
$$

and

$$
\begin{equation*}
f(x+y+\alpha) f(x-y+\alpha)=f(x)^{2}+f(y)^{2}-1, \tag{1.6}
\end{equation*}
$$

for all $x, y \in \mathbb{R}$. The functional equation (1.5) was considered by Kannappan in [6] (see also [7]) while (1.6) was considered by Etigson in [2]. The functional equations (1.1)-(1.6) are examples of functional equations with restricted arguments where at least one of the variables is restricted to a certain discrete subset of the domain of the other variable(s). In particular, the subset may consist of a single element.

The main goal of this paper is to determine the general solution of the functional equation

$$
\begin{equation*}
f(x+y+\alpha)+g(x+\sigma y+\alpha)=2 f(x) f(y) \tag{1.7}
\end{equation*}
$$

for all $x, y \in G$. The functional equation (1.1) is a special case of the functional equation (1.7), where $g=\phi, f=-\phi$ and $G=\mathbb{R}$ with $\sigma(y)=-y$. If $G=\mathbb{R}$, and $g=\phi$ with $\sigma(y)=-y$, then the functional equation (1.7) reduces to the functional equation (1.2) studied by Kannappan in [5]. Hence the solution of (1.1) and (1.2) can be obtained from the results obtained in this paper. Although, the functional equation (1.7) looks similar to (1.4), their solutions are different. Using some ideas from [8], we determined the general solutions of (1.7) without using any regularity conditions on the unknown functions.

## 2. Preliminary Results

It is easy to see that if $\phi$ is the zero function and $\psi$ is an arbitrary function, then they are the solutions of the functional equation

$$
\begin{equation*}
\phi(x+y)+\phi(x+\sigma y)=2 \phi(x) \psi(y) \tag{2.1}
\end{equation*}
$$

for all $x, y \in G$. The following result from [1] gives the solution of (2.1) when $\phi$ is not identically zero.

Lemma 1. Let $G$ be an abelian group. Let $\phi, \psi: G \rightarrow \mathbb{C}$ satisfy the functional equation (2.1) for all $x, y \in G$, where $\sigma: G \rightarrow G$ is an involution and let $\phi \neq 0$. Then there exists a character $h: G \rightarrow \mathbb{C}^{\star}$ such that

$$
\psi=\frac{h+h \circ \sigma}{2} .
$$

If $h \neq h \circ \sigma$, then $\phi$ has the form

$$
\phi=a h+b h \circ \sigma
$$

for some $a, b \in \mathbb{C} \backslash\{0\}$. If $h=h \circ \sigma$, then $\phi$ has the form

$$
\phi=h[A-A \circ \sigma+\gamma],
$$

where $A: G \rightarrow \mathbb{C}$ is an additive function and $\gamma \in \mathbb{C}$.

The following result was proved by the authors in [9] and will be used while proving the main result in the next section.

Lemma 2. Let $G$ be an abelian group, $\alpha \in G$ be a fixed element and $\sigma: G \rightarrow G$ be an involution. Then any nonzero solution $f: G \rightarrow \mathbb{C}$ of

$$
\begin{equation*}
f(x+\sigma y+\alpha)-f(x+y+\alpha)=2 f(x) f(y) \tag{2.2}
\end{equation*}
$$

for all $x, y \in G$ is given by

$$
\begin{equation*}
f=-\frac{1}{2} \chi(\alpha)[\chi-\chi \circ \sigma], \tag{2.3}
\end{equation*}
$$

where $\chi$ is a character on $G$ satisfying $\chi(\sigma \alpha)=-\chi(\alpha)$. Conversely, $f$ in (2.3) defines a nonzero solution of (2.2).

The following lemma is known as Artin's lemma and can be found in Corollary 3.20 in [13].

Lemma 3. The set of characters on a group $G$ is a linearly independent subset of the vector space of all complex-valued functions on $G$.

## 3. Main Result

Now we are ready to present the main result of this paper.
Theorem 4. Let $G$ be an abelian group, $\alpha \in G$ be a fixed element and $\sigma: G \rightarrow G$ be an involution. Any solution $f, g: G \rightarrow \mathbb{C}$ of the functional equation

$$
\begin{equation*}
f(x+y+\alpha)+g(x+\sigma y+\alpha)=2 f(x) f(y) \quad \forall x, y \in G \tag{3.1}
\end{equation*}
$$

has one of the following forms, in which $h$ denotes a character of $G$.

$$
\begin{equation*}
f=\gamma, \quad g=\gamma(2 \gamma-1) \tag{3.2}
\end{equation*}
$$

where $\gamma \in \mathbb{C}$, or

$$
\begin{equation*}
f=\frac{1}{2} h(\alpha)[h-h \circ \sigma], \quad g=-f, \tag{3.3}
\end{equation*}
$$

or

$$
\begin{equation*}
f=d h, \quad g=d h\left[2 d h(\alpha)^{-1}-1\right] \tag{3.4}
\end{equation*}
$$

where $d \in \mathbb{C}, 2 d h(\alpha)^{-1} \neq 1$, and $h=h \circ \sigma$, or

$$
\begin{equation*}
f=\frac{1}{2} h(\alpha) h, \quad g=0 \tag{3.5}
\end{equation*}
$$

where $d \in \mathbb{C}, 2 d h(\alpha)^{-1}=1$, and $h=h \circ \sigma$, or finally

$$
\begin{equation*}
f=\frac{1}{2}[h(\alpha) h+h(\sigma \alpha) h \circ \sigma], \quad g=\frac{1}{2}[h(\sigma \alpha) h+h(\alpha) h \circ \sigma], \tag{3.6}
\end{equation*}
$$

where $h \neq h \circ \sigma$.
Conversely, each of the five forms defines a solution $(f, g)$ of the functional equation (3.1).

Proof. It is easy but tedious to check that the solutions listed in (3.2), (3.3), (3.4), (3.5), and (3.6) satisfy the functional equation (3.1). Next, we show that these are the only solutions of (3.1).

If $f(x)=\gamma$ for all $x \in G$, then we get (3.2) from (3.1).
From now on, we assume that $f$ is nonconstant. Let $y=0$ in (3.1). Then we have

$$
f(x+\alpha)+g(x+\alpha)=2 f(x) f(0)
$$

This implies

$$
\begin{equation*}
g(x)=2 d f(x-\alpha)-f(x), \quad \forall x \in G \tag{3.7}
\end{equation*}
$$

where $d:=f(0)$ is a constant in $\mathbb{C}$. Using (3.7) in (3.1), we see that

$$
\begin{equation*}
f(x+\sigma y+\alpha)-f(x+y+\alpha)=2 f(x) f(y)-2 d f(x+\sigma y) \tag{3.8}
\end{equation*}
$$

for all $x, y \in G$. Letting $F(x):=-f(x)$ for all $x \in G$ in (3.8), we obtain

$$
\begin{equation*}
F(x+\sigma \alpha+\alpha)-F(x+y+\alpha)=2 F(x) F(y)+2 d F(x+\sigma y) \tag{3.9}
\end{equation*}
$$

for all $x, y \in G$.

Case 1. Suppose $d=0$. Then (3.9) becomes

$$
\begin{equation*}
F(x+\sigma \alpha+\alpha)-F(x+y+\alpha)=2 F(x) F(y) \tag{3.10}
\end{equation*}
$$

for all $x, y \in G$. Thus, from Lemma 2, (3.7) and definition of $F(x)$, we obtain

$$
f(x)=\frac{1}{2} h(\alpha)[h(x)-h(\sigma x)] \quad \text { and } \quad g(x)=-f(x)
$$

where $h: G \rightarrow \mathbb{C}^{*}$ is a character with $h(\alpha)=-h(\sigma \alpha)$. This is the asserted solution (3.3) when $h(\alpha)=-h(\sigma \alpha)$.

Case 2. Next, suppose $d \neq 0$. Replace $y$ with $\sigma y$ in (3.9) to obtain

$$
\begin{equation*}
F(x+y+\alpha)-F(x+\sigma y+\alpha)=2 F(x) F(\sigma y)-2 d F(x+y) \tag{3.11}
\end{equation*}
$$

for all $x, y \in G$. By adding (3.11) to (3.9), we see that

$$
\begin{equation*}
d[F(x+y)+F(x+\sigma y)]=-F(x)[F(y)+F(\sigma y)] \tag{3.12}
\end{equation*}
$$

Define $\phi: G \rightarrow \mathbb{C}$ by $\phi(x)=\frac{F(x)}{d}$, then (3.12) can be rewritten as

$$
\begin{equation*}
\phi(x+y)+\phi(x+\sigma y)=2 \phi(x) H(y) \tag{3.13}
\end{equation*}
$$

where

$$
\begin{equation*}
H(y)=-\frac{\phi(y)+\phi(\sigma y)}{2} \tag{3.14}
\end{equation*}
$$

From Lemma 1, the solution of (3.13) is given by

$$
\phi(x)= \begin{cases}h(x)[A(x-\sigma x)+\gamma] & \text { if } h=h \circ \sigma  \tag{3.15}\\ a h(x)+b h(\sigma x) & \text { if } h \neq h \circ \sigma\end{cases}
$$

and

$$
\begin{equation*}
H(x)=\frac{h(x)+h(\sigma x)}{2} \tag{3.16}
\end{equation*}
$$

where $h: G \rightarrow \mathbb{C}^{*}$ is a character, $A: G \rightarrow \mathbb{C}$ is an additive function and $a, b, \gamma \in \mathbb{C}$ are constants. Hence, from the definitions of $\phi$ and $F$, we get

$$
f(x)= \begin{cases}-d h(x)[A(x-\sigma x)+\gamma] & \text { if } h=h \circ \sigma  \tag{3.17}\\ -d[\operatorname{ch}(x)+d h(\sigma x)] & \text { if } h \neq h \circ \sigma,\end{cases}
$$

where $c, d, \gamma \in \mathbb{C}$ are constants. Letting $a=-c$ and $b=-d$, we have

$$
f(x)= \begin{cases}-d h(x)[A(x-\sigma x)+\gamma] & \text { if } h=h \circ \sigma  \tag{3.18}\\ -d[a h(x)+b h(\sigma x)] & \text { if } h \neq h \circ \sigma,\end{cases}
$$

where $a, b, \gamma \in \mathbb{C}$ are constants. Interchanging $x$ and $y$ in (3.8), we have

$$
\begin{equation*}
f(y+x+\alpha)-f(y+\sigma x+\alpha)=2 f(y) f(x)-2 d f(y+\sigma x) . \tag{3.19}
\end{equation*}
$$

By comparing (3.8) and (3.19), we obtain

$$
f(x+\sigma y+\alpha)-2 d f(x+\sigma y)=f(y+\sigma x+\alpha)-2 d f(y+\sigma x) .
$$

The substitution of $y=0$ in the previous equation yields

$$
\begin{equation*}
f(x+\alpha)=f(\sigma x+\alpha)+2 d[f(x)-f(\sigma x)] \tag{3.20}
\end{equation*}
$$

for all $x \in G$.
Subcase 2.1. Suppose $h=h \circ \sigma$. Using (3.14) and (3.16), we see that

$$
h(x)+h(\sigma x)=-\phi(x)-\phi(\sigma x) .
$$

Since $h=h \circ \sigma$, the use of (3.15) in the last equation yields

$$
2 h(x)=-h(x)[A(x-\sigma x)+\gamma+A(\sigma x-x)+\gamma]
$$

which simplifies to

$$
2 h(x)(1+\gamma)=0 .
$$

Hence $\gamma=-1$. This means our solution for $f$ is of the form

$$
\begin{equation*}
f(x)=-d h(x)[A(x-\sigma x)-1], \tag{3.21}
\end{equation*}
$$

where $h: G \rightarrow \mathbb{C}^{*}$ is a character and $A: G \rightarrow \mathbb{C}$ is an additive function. Using (3.21), we obtain

$$
\begin{equation*}
f(x+\alpha)=-d h(x) h(\alpha)[A(x-\sigma x)+A(\alpha-\sigma \alpha)-1] \tag{3.22}
\end{equation*}
$$

and

$$
\begin{equation*}
f(\sigma x+\alpha)=-d h(x) h(\alpha)[A(\alpha-\sigma \alpha)-A(x-\sigma x)-1] \tag{3.23}
\end{equation*}
$$

Thus, (3.20), (3.21), (3.22) and (3.23) yield

$$
\begin{equation*}
[h(\alpha)-2 d] A(x-\sigma x)=0, \quad \forall x \in G \tag{3.24}
\end{equation*}
$$

Suppose $2 d h(\alpha)^{-1} \neq 1$. Then (3.24) yields $A(x-\sigma x)=0$ for all $x \in G$ and $f$ in (3.21) reduces to

$$
\begin{equation*}
f(x)=d h(x) \tag{3.25}
\end{equation*}
$$

when $h=h \circ \sigma$. Using (3.25) in (3.7), we see

$$
\begin{equation*}
g(x)=2 d f(x-\alpha)-f(x)=d h(x)\left[2 d h(\alpha)^{-1}-1\right] \tag{3.26}
\end{equation*}
$$

Thus we get the solution (3.4).
Next, suppose $2 d h(\alpha)^{-1}=1$. Then (3.21) yields

$$
\begin{equation*}
f(x)=d h(\alpha) h(x)[A(x-\sigma x)-1] \tag{3.27}
\end{equation*}
$$

when $h=h \circ \sigma$. Using (3.27) in (3.7), we see

$$
\begin{equation*}
g(x)=2 d f(x-\alpha)-f(x)=d h(\alpha) A(\alpha-\sigma \alpha) h(x) \tag{3.28}
\end{equation*}
$$

Letting the forms of $f$ and $g$ from (3.27) and (3.28) in (3.1) and simplifying, we obtain

$$
h(x) h(y) h(\alpha)^{2} A(x-\sigma x) A(y-\sigma y)=0
$$

for all $x, y \in G$. Since $h$ is character, thus we have

$$
A(x-\sigma x) A(y-\sigma y)=0
$$

for all $x, y \in G$. Hence $A(x-\sigma x)=0$ for all $x \in G$ and for this case

$$
f(x)=\frac{1}{2} h(\alpha) h(x) \quad \text { and } \quad g(x)=0, \quad \forall x \in G .
$$

Thus we get the solution (3.5).
Subcase 2.2. Suppose $h \neq h \circ \sigma$. We have by (3.18) that $f$ is a linear combination of $h$ and $h \circ \sigma$, namely

$$
\begin{equation*}
f(x)=\operatorname{adh}(x)+\operatorname{bdh}(\sigma x) \tag{3.29}
\end{equation*}
$$

for all $x \in G$. Letting $x=0$ in (3.29) and noting that $f(0)=d \neq 0$, we see that

$$
\begin{equation*}
b=1-a . \tag{3.30}
\end{equation*}
$$

It follows from (3.7) that $g$ is also a linear combination of $h$ and $h \circ \sigma$ and it is given by

$$
\begin{equation*}
g(x)=A h(x)+B h(\sigma x) \tag{3.31}
\end{equation*}
$$

where

$$
\begin{equation*}
A=2 a d^{2} h(\alpha)^{-1}-a d \quad \text { and } \quad B=2 b d^{2} h(\sigma \alpha)^{-1}-b d \tag{3.32}
\end{equation*}
$$

Using (3.29) and (3.31), we get

$$
\begin{aligned}
0= & f(x+y+\alpha)+g(x+\sigma y+\alpha)-2 f(x) f(y) \\
= & {\left[\left(a d h(\alpha)-2 a^{2} d^{2}\right) h(y)+\left(A h(\alpha)-2 a b d^{2}\right) h(\sigma y)\right] h(x) } \\
& +\left[\left(B h(\sigma \alpha)-2 a b d^{2}\right) h(y)+\left(b d h(\sigma \alpha)-2 b^{2} d^{2}\right) h(\sigma y)\right] h(\sigma x)
\end{aligned}
$$

for all $x, y \in G$. By Artin's lemma, $h$ and $h \circ \sigma$ are linearly independent and thus the above computation yields

$$
\begin{align*}
& \left(a d h(\alpha)-2 a^{2} d^{2}\right) h(y)+\left(A h(\alpha)-2 a b d^{2}\right) h(\sigma y)=0  \tag{3.33}\\
& \left(B h(\sigma \alpha)-2 a b d^{2}\right) h(y)+\left(b d h(\sigma \alpha)-2 b^{2} d^{2}\right) h(\sigma y)=0 \tag{3.34}
\end{align*}
$$

for all $y \in G$. Again by Artin's lemma $h(y)$ and $h(\sigma y)$ are linearly independent and hence the above equations (3.33) and (3.34) yield

$$
\begin{align*}
& a d h(\alpha)-2 a^{2} d^{2}=0,  \tag{3.35}\\
& A h(\alpha)-2 a b d^{2}=0,  \tag{3.36}\\
& B h(\sigma \alpha)-2 a b d^{2}=0,  \tag{3.37}\\
& b d h(\sigma \alpha)-2 b^{2} d^{2}=0 . \tag{3.38}
\end{align*}
$$

From (3.36) and (3.37), we see that

$$
\begin{equation*}
A h(\alpha)=B h(\sigma \alpha)=2 a b d^{2} . \tag{3.39}
\end{equation*}
$$

Next, we expressed $a, b$ and $d$ in terms of $h(\alpha)$ and $h(\sigma \alpha)$. Using (3.32) and (3.30) in (3.39) and simplifying, we have

$$
\begin{equation*}
4 a d-2 d=a[h(\alpha)+h(\sigma \alpha)]-h(\sigma \alpha) . \tag{3.40}
\end{equation*}
$$

From (3.35) and (3.38), see that

$$
\begin{equation*}
h(\alpha)=2 a d \quad \text { and } \quad h(\sigma \alpha)=2 b d . \tag{3.41}
\end{equation*}
$$

Adding $h(\alpha)$ to $h(\sigma \alpha)$ in (3.41) and using $b=1-a$, we obtain

$$
\begin{equation*}
d=\frac{1}{2}[h(\alpha)+h(\sigma \alpha)] . \tag{3.42}
\end{equation*}
$$

Since $h(\sigma \alpha) \neq 0$, this implies that $h(\alpha)+h(\sigma \alpha) \neq 0$. Using $d$ from (3.42) in (3.40), we have

$$
\begin{equation*}
a=\frac{h(\alpha)}{h(\alpha)+h(\sigma \alpha)} \quad \text { and } \quad b=1-a=\frac{h(\sigma \alpha)}{h(\alpha)+h(\sigma \alpha)} . \tag{3.43}
\end{equation*}
$$

Using (3.42) and (3.43), the form of $f$ in (3.29) can be rewritten as

$$
f(x)=\frac{1}{2}[h(\alpha) h(x)+h(\sigma \alpha) h(\sigma x)]
$$

which is included in (3.6). Using (3.42), (3.43) and (3.32), the constants $A$ and $B$ given in (3.32) can be rewritten as

$$
A=2 a d^{2} h(\alpha)^{-1}-a d=\frac{1}{2} h(\sigma \alpha)
$$

and

$$
B=2 b d^{2} h(\sigma \alpha)^{-1}-b d=\frac{1}{2} h(\alpha) .
$$

Thus $g$ given in (3.31) takes the form

$$
g(x)=\frac{1}{2}[h(\sigma \alpha) h(x)+h(\alpha) h(\sigma x)]
$$

which is included in the asserted solution (3.6). This completes the Case 2.
Since no more cases are left, the proof of the theorem is now complete.

The following corollary presents the general solution of (1.2) with an involution on an abelian group $G$ generalizing the result of Kannappan in [5].

Corollary 5. Let $G$ be an abelian group, $\sigma: G \rightarrow G$ be an involution, and $\alpha \in G$ be a fixed element of $G$. The function $\ell: G \rightarrow \mathbb{C}$ satisfies the functional equation

$$
\begin{equation*}
\ell(x+y+\alpha)+\ell(x+\sigma y+\alpha)=2 \ell(x) \ell(y), \quad \forall x, y \in G \tag{3.44}
\end{equation*}
$$

if and only if

$$
\begin{equation*}
\ell=\frac{1}{2} h(\alpha)[h+h \circ \sigma], \tag{3.45}
\end{equation*}
$$

where $h: G \rightarrow \mathbb{C}$ is a multiplicative function satisfying $h(\alpha)=h(\sigma \alpha)$.
Proof. In solution (3.2) of Theorem 4, letting $g(x)=f(x)=\ell(x)$, we obtain $2 \gamma(\gamma-1)=0$ and thus $\ell(x)=0$ or $\ell(x)=1$ for all $x \in G$ which is included in (3.45).

Letting $g(x)=f(x)=\ell(x)$ in the solution (3.3), we get $\ell=f=0$. This solution is included in (3.45).

Letting $g(x)=f(x)=\ell(x)$ in the solution (3.4) when $h=h \circ \sigma$, we get $h(\alpha)=d$. Hence $\ell(x)=h(\alpha) h(x)$ when $h=h \circ \sigma$ and this is included in the solution (3.45).

Letting $g(x)=f(x)=\ell(x)$ in the solution (3.5) when $h=h \circ \sigma$ and $2 d h(\alpha)^{-1}=1$, we get $\ell=f=0$. This solution is included in (3.45).

Letting $g(x)=f(x)=\ell(x)$ in the solution (3.6) when $h \neq h \circ \sigma$, we get

$$
[h(\alpha)-h(\sigma \alpha)] h-[h(\alpha)-h(\sigma \alpha)] h \circ \sigma=0
$$

Hence, by Artin's lemma, the characters $h$ and $h \circ \sigma$ are linearly independent and thus we have $h(\alpha)=h(\sigma \alpha)$. For the case when $h \neq h \circ \sigma$, we have from (3.6),

$$
\ell(x)=\frac{1}{2} h(\alpha)[h(x)+h(\sigma x)]
$$

which is the asserted solution (3.45).

## Acknowledgement

This research was supported by Kangnam University Research Grants 2016.

## References

[1] J. Chung and P. K. Sahoo, Solution of several functional equations on nonunital semigroups using Wilson's functional equations with involution, Abstr. Appl. Anal. 2014 (2014), Article ID 463918, 9 pp. DOI: 10.1155/2014/463918.
[2] L. B. Etigson, A cosine functional equation with restricted arguments, Canad. Math. Bull. 17(4) (1974), 505-509.
[3] Z. Fechner, A generalization of Gajda’s equation, J. Math. Anal. Appl. 354 (2009), 584-593.
[4] Z. Gajda, A generalization of d'Alembert's functional equation, Funkcial. Ekvac. 33 (1990), 69-77.
[5] Pl. Kannappan, A functional equation for the cosine, Canad. Math. Bull. 2 (1968), 495-498.
[6] Pl. Kannappan, On sine functional equation, Studia Sci. Math. Hungar. 4 (1969), 331-333.
[7] Pl. Kannappan, Functional Equations and Inequalities with Applications, Springer, New York, 2009.
[8] A. M. Perkins and P. K. Sahoo, A functional equation with involution related to cosine function, Aequationes Math. 90 (2016), 123-131.
[9] A. M. Perkins and P. K. Sahoo, On two functional equations with involution on groups related to sine and cosine functions, Aequationes Math. 89 (2015), 1251-1263.
[10] P. K. Sahoo, A functional equation with restricted argument related to cosine function, Tamsui Oxford J. Info. Math. Sci. 31(3) (2017), 9-20.
[11] P. K. Sahoo and Pl. Kannappan, Introduction to Functional Equations, CRC Press, Boca Raton, 2011.
[12] H. Stetkaer, Van Vleck's functional equation for the sine, Aequationes Math. 90 (2016), 25-34.
[13] H. Stetkaer, Functional Equations on Groups, World Scientific Publishing Co. Singapore, 2013.
[14] E. B. Van Vleck, A functional equation for the sine, Ann. Math. 7 (1910), 161-165.
[15] E. B. Van Vleck, On the functional equation for the sine, Additional note, Ann. Math. Second Ser. 13(1/4) (1911-1912), 154.

